Total number of pages—8
32T CSCA
2022
COMPUTER SCIENCE AND APPLICATIONS
(Theory )

Full Marks : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each 1x8= 8
Q. No. 2 carries 2 marks eacl | 2x10 = 20
Q. No. 3.carries 3 marks each Giie 3x9 = 27
Q. No. ‘4 carries 5 marks each 5X3 =15

Total = 70

Contd.



1.  Answer the following : (any eight) 1x8=8

Rictea el e Te 1 ¢
(1) State two advantages of Ct++.

C++ -3 7o) el f1n 2
(b) What is a class ? Q
Class @ -?
(c)  What is an object ?
Object & ?
‘(d) State t'wc-) data types of C++.
C++ -3 /4% data type &l S |
(e) Define a data structure.
Data structure- 7RI |

) What is member function ?

Member function & ?
Q) What is a database ?

Database & ?
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(h)  What is SQL ?
SQL f ?

(i). What is a binary file ?
Binary file =2

(j) Define constructor.

Constructor-3 75! &7 |

2.  Answer the following queétions : (any ten) 2x10=20

TS ol et T s Wl 5 (Rl w2t
(a) What is fuﬁction overloading ?
Function overloading = 2
(b) Define abstract class and concrete class.
Abstract class Sli¥ concrete class-3 W‘\’@ | -
(c) Define a destructor.

Destructor-< el G|

State the commutative and associative law of Boolean algebra.

(d)
Boolean algebra-< commutative 9% associative law mﬂ 341 |
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() What is packet switching ?
Pack-et switching & ?

() Define Bandwidth.
Bandwidth-3 <@l {721 |

(g) State two uses of XML.
XML-J 75! I729 SeEd 0 |

(h) Define a Queue.

Queue-3 e o3l |
(i) Define a Stack.
Stack -9 ferait |
(i) State two advantages .of LAN.
LAN -5 75! &l Sz 41| l
(k) What is data transfer réte ?
Data transfer rate & 2
() State the use of Karnaugh Map:
Karﬁaugh Map - 929 T 9 |
(m) What is a b-ase class ? |

Base class & ?
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(n) Define Pointer.

Pointer-3 g Al

3 Answer any nine from the following : 3><9=2’7

oo eIl A1 e e I 8
(@) Write briefly about the advantages of object oriented programming
language. ‘

Object oriented programming languagé 3 HRYIEIE B Tt |

(b) State the process of creating and writing text into a file.

G| file.-ﬁ text create % write TSI i[O o1 T

(c) Differentiate ‘pass by value’ from “pass by reference’.

‘Pass by value’ Sli% “pass by reference’ -9 212y Tl

(d) Write the codes in C++ to declare and initialize a pointer.
Pointer €bi declare i< initialize S AE C++-© 9o} program
o7l |

(e) Write SQL to create a table named studeﬁt with 4 fields namely :

SID, SNAME, ADDRESS and MARKS.

o= Tl field Z (71 SQL -4 student FPR @3 table create <1 3

SID, SNAME, ADDRESS 1% MARKS.
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() Write the differences of Text file and Binary file.

Text file 7@1@ Binary file-3 ii2/<y o<l |
(g9 What are the advantages of using SQL ?
SQOL WWH@W%% 2
() Explain the Push and POP operations on a stack.
Stack-9 Push W% POP operations-3 RI Wﬁi feral |
(1) Explain the process of selection sort with an example.

Selectioh sort Amfod KA Snizgemz @2 & |

(i) Explain the process of obtaining Sum of Product (SOP) using Truth

Table.
Truth Table T92 F{ Sum of Product (SOP) 4 =1 A=fewo Faca

Iz faadt |

(k) Explain the aggregate functions of SQL.
SQL-¥ aggregaté function-T2d KR I@2 il |
()  Explain three different types of network topologies.

fofabr @eesl @Tal network topologies- fawa 12l |

(m) Differentiate LAN from WAN.

LAN 9% WAN-3 i<y &1l |
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(1)

4.  Answer any three from the following:

Tk

(a)

(b)

(©

(d)

(e)

3D THES R

Write the advantages of Java Script.
Java Script < ﬂﬁw IGRIN
5x3=15

Riceiean fofap) @[ ©es 4l ¢

Write a C++ program to add two matrices of order 4 x 4.

E[Tﬁ 4 x 4 (GFR CAIeRF SERIRGE C++ - €6l program 7l |

Write a Ct+ program to implen‘lent binary search in an array.
Array {GI® binary search ércm %349 AE@ C++ -9 @6 program &l |
Explain the concept of multiple inheritence.

Multiple inheritence-9 A 2 ferail |

Co‘mpare XML with HTML.

XML < HTML q 518 weiel I

Write briefly about DbL and DML with example-.

DDL Sl DML-a R TR A ol |

Write a C++ program to de_lete an element-fro_m an array.

y Goie 291 element @51 delete FRACH C++ -9 G| program G

L8
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